E = = ) == | =ll:
1 FrI k- =1 NS 1 | 1 1
2 NRYYHR—2 mfxeL | 555 | 3 | 3 4
3 | b RA1IVLARE IIAWER | 55.5 | 4 | 4 6
4 | LUV A ugp%fE | 55.0 | 2 | 2 2
5 | 1 |(hFJIM) IROIta— 50.1 6 | 7 5
6 W 7T—AN\ 59— |ERRE | 48.5 5| 6 7
7 : 4 :I‘—:I‘—:t::»u— FEAZEA | 48.3 8 | 8 9
8 | . |SvoRvnE kqXE | 429 | 7 | 5 3
9 JRE;IJ TATY |INRE 40.2 9 |10 8
10 3 2?’{”"!_:_;1 ] 10 9 10
him
F 6-7-10 ¥3,000
7-10 7-10-6 ¥6,130




D/28(H) B RF
: = Z 5 == = IE
1 [ 0 |0977YV1— | SREE 1|1 3
2 A=T =Y N 59.9 3| 2 2
3 S¥)4F3 ERRE®E | 56.5 2 | 3 4
4 THhIYITAAR |IRHRE 52.0 6 | 6 7
5| 5 [1¥UV ILARESSR | 49.6 4 | 4 1
6 | 1 |97IF IIABER | 47.7 | 7 | 9 6
]?4—2‘?'3‘?}11 BEAKTE | 458 | 8 | 7 5
8 L YLL1T3Y INHRE 443 | 5 | 5 9
9 FANNSHLA 85Ktk 42.7 | 11 | 11 10
10 RERINLT1—-F5A(Y | EFIS 41.7 | 9 | 10 11
Ew#:mlw e Ak | 10 | 8 8

him

5 ¥1,780 E 5-6-7 ¥540
E 5-7 ¥2,070 E 5-7-6 ¥12,680




-
e
il
-

L |

®
»
w

E = = ) == | =ll:
1| 1 |[/hI—A INRE 1|1 2
2 B H)— iIRA#E— | 65.1 e— 1
3 MVE=JU74> |IT\EREAN | 524 | 5 | 7 3
4 tA4OY7—-TIN | AKth 50.9 31| 3 4
5 OY+>0%4 IWABE: | 509 | 4 | 4 5
6 | 5 VIl y o 49.9 7 | 6 6
7 PURYYSLAAGY1 |SIREE | 446 | 6 | 5 8
8 [ENIRU1D =EERE | 441 (10| 9 11
9 I94I°A E42XE | 42.3 8 | 8 7
10 JZHYTSUA— |FIEEE | 406 | 11| 11 o
11 NISOT—R E=F NI 9 |10 10
him
EH B% 9 ¥330 1-2-9 ¥1,330

&
et

1-9 ¥200 9-1-2 ¥5,390




0/28(B) EXF4R [RPTE
E EE4 z 3B = - 2
B 10 HEL = e 1|1 4
2 V7 AF¥7> LR 60.7 T — 1
3 | 1 |PNZVIEaL ILABESE | 54.8 4 | 4 7
4 |50 |VI=yED- $3K%h 53.1 | 3 | 2 2
5 | 5 |[RISIVIHRYT | S5 49.4 9 | 5 3
6 RU—Z—H—-)l |#&ELZKE | 49.3 5| 6 11
4 D490V T475 |ImO%— | 48.1 7 | 10 8
8 FYOEAYI-A |HEFKBIE | 46.5 6 | 8 5
9 4040 IRFIRE | 41.5 8 | 7 6
10 N JLAATSY  |mAEA | 309 |11 9 10
11 TJyRLA> EXE | 10 | 11 9
him
; 3 ¥600 B3 3-5-11 ¥4,180
=3% 3-11 ¥1,160 E 3-11-5 ¥21,780




IIII

nr -

i

-
-

in
TN

1 T47—31 ). NES 1| 3 3
2 AN X | 57.8 | 2 | 2 5
3 tI-—-9 IUABE: | 55.4 | 4 | 4 4
4 e JE—N— EAFEA 54.1 3|1 6
5 SNAZ—tIA | INRE 51.6 + 2
6 | 5 |[¥YUJOVYA M ER 46.6 9 | 8 1
7 D AYV—MNE7 |Gl 46.2 8 | 9 11
8 UM ATAIAY AHpE 45,5 | 7 | 5 7
9 | 1 [HURAMEY MfxRE | 446 | 6 | 6 10
| oAk 44.6 |10 |10 8
IRFHIREG ” 11 9

¥3,600 [EEe3-<:s 3-5-7 ¥22,270

¥28,410 T 5-3-7 ¥266,130




i J0= 23048 I
: Z z 5 == - B
1 | 5 |SV)2I70F%— |G 1 | 2 4
2 F3V ROt — 65.0 2 | 3 1
3 5O N 58.2 3|1 2
4 e 7—5>h =i isE 50.6 4 | 4 6
A 11 b3 FAEA | 492 | 7 | 5 10
6 [ A |77-hoLys1 KR | 478 | 8 | 6 3
PRI SATATIVT— | REE 46.5 | 10| 7 5
A3V AETh |EAFKBTE 44.8 6 | 10 7
44.7 5 | 8 8
42.1 9 | 9 9
41.6 |11 |12 12
11 11
2-7-10 ¥3,990
2-10-7 ¥15,630




N/2(HY BEF7R [RE
E = = % = = | =l[:
1 JUIEAFA | IUAREREK 2 | 2 1
2 2519%v7 EF: N5 1| 1| 0 2
3|6 E-E-)FI iIkRO%— | 57.8 3 |12 BYH
4 V-4 IIARE: | 515 | 4 | 4 5

B : SRR E 7
6 | 1 |[FXVIFT— IRHI%S | 466 | 7 | 6 4
7 | 5 [FYF)LAP] HEPEE | 466 | 6 | 5 6
8 e ZATINIOUPR |fk4K#E | 450 | 9 | 9 10
9 NN AALNATH—NN— |INEE 43.9 |10 10 11
10 Sﬁu?ﬂ—u Mmfixe | 43.5 8 | 8 8
11 PV AYAIITI—-D | KIEE 39.4 | 12 | 11 9
12 11 JLYRY3IS |84 _ Ty 3

IhER &

4 ¥200 [C:E:E 4-11-12 ¥1,240

4-12 ¥120 e 4-12-11 ¥3,040




0/28(A) EBxHE8R [RF
; 2 SE2 5 = =0
SY4Z—-J3>0 |IUAELER i | 1
7AI40OR =iesE | 63.8 2 | 2 2
AHAI—2 IEpR{E | 54.2 4 | 4 5
SV =S — |BRRE | 52.0 5| 6 12
I DLYTIOZBUN |tRO%— | 515 | 3 | 5 6
[ FUAREY =41 | 499 | 6 | 3 3
2 mgdudn IRHIRE | 47.3 | 12| 12 10
NITIATAT KRR 45.3 7 | 10 9
11 RFaL P BEARIGTE 44.3 8 | 9 8
m%‘:—j’u:‘ztz mfxe | 43.1 | 9 |11 11
11 | FEF IR EqAx | 41.7 |11 | 8
12 USSP h4hY |(Hi®B | 378 7 4
=&
5 ¥170 E 5-6-10 ¥480
E 5-6 ¥150 E 5-6-10 ¥1,220




0/28(A) EBX[9R [RF
F = ST 3 == [:
1 yoJL—x LLIZARES TR 1|1 1
2 fMFYRN—-bF |IRO%— | 58.7 2 | 3 5
3| 6 (JrAL—R ERRE | 534 | 3|5 2
4 EE3vh M ER 52.4 4 | 2 7
5 4‘-..:73 EAFEA 51.9 7 | 7 4
6 WPEAY—V7IL1h S 50.6 5 | 10 10
7 | 5 [O—-FAXLA BEAIR{E | 45.4 9 | 6 6
11 P, SISIEE | 449 | 8 | 9 8
SSoMAVR— |WABE | 448 |11 8 12
U SAMEYE  fakE | 442 |6 | 4 3
>—tJ33> IRHIRE | 43.6 | 10| 12 11
N\y>19% INHRiE 11 9
9 ¥260 6-9-12 ¥2,240
6-9 ¥970 9-6-12 ¥9,080




i J0= 2elinl 1UR [RF

; 2 SE2 5 = =0
1 | 5 |A-Y7—YhvT |WHEZE o -y 1
2 rO—d-JVK =I5 60.2 2 | 2 6
3 | 1 |FoNA(]—- ERRE | 56.2 3|3 4
4 NTI9AD EF: NE 51.7 4 | 4 7
5 RERTSY=YD iIRO#@— | 50.2 | 5 | 5 3
6 NARIEYYI |BEABTE | 49.4 7 | 6 2
7 NAALYME—D |ISPEE | 449 | 8 | 9 8
8 TAAN—F =eiEE | 44.6 6 | 8 5
9 J3yR=)1— |IJXAKFEAN | 43.0 | 10| 10 10
10 L TA—TATAh | &XIS 43.0 | 9 | 7 9

IRFIREG 11 | 11 BYH

¥110 [JEeI:E:s 5-7-11 ¥1,460

¥860 [e3::l::! 5-7-11 ¥4,210




r 2 z 5 = | =0
1 | 6 [ "MIVP3T7VU— | SEEE 2 | 3 4
2 [ RWAITAN- |BAe | 658 | 1 | 4 10
3 AVFTSRYE | WER 55.0 | 3| 2 3
4 FA9F7IFPR)> |IfHEE | 51.5 | 4 | 9 1
5 S4VEYRT I — |IUFEEE | 50.9 5| 8 7
6 =N INKREE 495 | 8 | 6 5
7 IS FFI+— $AKth 46.2 |10 | 11 9
8 Pl TUAIAYT—RA |IUABEE | 46.1 * S | 12
o | 1 |M33vyydy |EHH#E | 454 | 6 | 5 6
10 |0 oML T— | ERRE | 42.8 9 | 7 8
11 | 28 EIMN—-hJ)>Y |2 12 | 12 11
12 | L[ TAWYFESR | AHEE - 11 | 10 2

=&
8 ¥4,240 Eeittis 8-11-12 ¥32,160

8-11 ¥30,580 [ 8-11-12 ¥357,420




0/28(A) E[12R [RF
; 2 SE2 5 = =0
1 JybhIA—F1> |ILUFEER 1|1 3
2 WFNIA—Y E42AE | 59.9 2 | 2 1
3| 1 (LT71739> iIRO#@— | 55.0 | 3 | 3 2
4 SYA4Z—71—7 |B5&XIE 53.7 4 |12 HGE
5 BPRtAS—JIYA |HLER 53.4 7 | 6 8
6 JL—>09vh | EE 49,7 8 | 4 6
7 J>0O—-hk ERRE | 47.7 6 | 5 7
8 FIU-JU-X |SEKRE | 445 5 | 7 5
9 BENTJI-FV—T7T> |IWE 429 | 10| 8 10
10 | 5 |[E9bU-N—5— |85AK%h 42.3 | 11| 9 4
11 SIF— IrHEE | 41.7 | 12 | 11 9
12 | 6 |IAYY4yaD 1C 9 | 10 11
=&
ER Bg5 8 ¥460 1-8-9 ¥800
B8 1-8 ¥860 8-1-9 ¥5,510




